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1. Which of the following statements is true for
Diodes?

A They convert do to ac

B They conduct current on both halves of
an ac wave

C  They conduct current only on one half of
an ac wave

D They fumish ac voltages to different parts
of an electronic circuit

2. Half wave rectifiers
A  converts dc to ac

B take place when the diode is reverse
biased

C  has an output frequency half that of the
input

D  Has a peak voltage across the load which
is approximately 1.44xemax of the

ab 00 01 11 10
c I ] 1 0
0

Figure 3
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The Karnaugh map of figure 3 shows a function
with inputs a, b and c and output 8. The
simplified expression of S is:

A S=ac+b

B S=ac+tab+ab

C S=ac+b.c+tbe

D s=b+abt +

6. An a.c source has a voltage V = 20sin300t the
frequency of the supply:

transformer secondary. A 20Hz
B 50Hz
3. C 47.7Hz
D 300Hz
7. Rectification is the conversion of
A actodc
B actoac
C dctoac
100 D dctode
Figure 1 / 8. The formula -':fl is to determine the
In the circqit of figure 1, the reading of the A resistation 6F BN peslistinr
o}:;nmestg i B resistance of a non-linear resistor
C  resistance of a conductor
B 6.67Q D  resistance of a conductor at variable
C ; 8 g length
D
D 9.
4. Ey o 10 ohms 3 ohms 4 ohms.
Q \ iz ? }i} N 1! 100, S0Hz
Ul T u2 T ] \\®_____
T Original circult J Equivalent circult e Figure 4
Figure 2 : For the circuit of figure 4, if U=100V,50Hz, the
Figure 2 shows an original circuit haymg a load value of the current I at resonance is:
resistance RL and its equivalent. Which theorem A I=10A
or law does it explain? B I=333A
A  Superposition theorem C 1=25A
B  Kirchhoff’s law D A=101A
C Norton’s theorem
D Thevenin’s Theorem
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10. A function having an output with expression

a @b is called:
A AnOR gate
B A NAND gate
C ANOR gate

D  AnExclusive OR gate

15. A non-measuring instrument is:
A Oscilloscope
B  Galvanometer
C Clip on ammeter
D  Phase tester

11. If two capacitors of 10uF each are connected in
series the equivalent capacitance is:.

A Cr=10yF
B Cr=20uF
C Cr=100puF
D Cy=5uF

12.

Figure 5
Applying Kirchhoff’s current law to the circuit
of figure 5 above we have:
A I[+Iz‘|‘13+14=0
B L+L-L-L=0
C L+h-L-14=0
D Li+L-LI-Ix=0

13. A sinusoidal voltage V =220V, 50Hz has a

period of:
A 0.02mS
B 20mS
C 02mS
D 2mS

14.

A e
LT «x

I VAK
vf

Figure 5
The thyristor in figure 6 will conduct if and
only if
A Vai>0andig=0
B Va<0andig>0
C Vai<Oandig=0
D Va>0andig>0

16.
Figure 7
The diode illustrated in figure 7 is:
A Reverse biased
B Forward biased
C  Undergoing doping o
D In conduction mode
17.

™~

|l

Vs*

t

AT

vep

t
Figure 8
Figure 8 shows a half wave rectifier circuit and
some comresponding waveforms. The waveform
VB represent the voltage across:
A The supply
B  The diode voltage

C Theload
D  The supply and the load

18. To obtain a full wave rectifier using a centre —
tapped transformer, how many diodes are

needed ?
A 1diode
B 2 diodes
C 4 diodes
D 1 dicde and a capacitive filter
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iti ic li Ib is connected to a
19. The positive charges of an atom are known as: 25. A 100 W electric l:ght.bu : :
A P Protons ® 250 V supply. Determine the resistance of the
B Neutrons bulb:
C Electrons A 250000 Q
D Nucleus B 625Q
C 040Q
D 25Q
20. Transistors, Diodes, thyristor and UJT are all
classified under 26.
A Switchgears
B Amplifiers A
C Semiconductor component
D Rectification -
12v
21. The equivalent resistance when four identical . s
resistors of value R each, are connected in T 2 3 & 5 @
arallel is:
pA Req = R? Figure 10
B R The diagram of figure 10 represents the
Req = characteristics of the filament of two
C ﬁz incandescent lamps. The respective resistances
Req =— are:
D Req= 4R A 3Qand 4Q
B 3Qand 12Q
22. The unit of conductance is: g ig :;:g ??Q
A Ohms
B Siemens 27. A phase angle 60 degrees between the current
](; golts and voltage in an AC electrical distribution
o system simply means:
23. The logic gate with output equation X = A+B A the frequency is 60 Hz
A NOT gate B resonance frequency is 60 Hz
B ORgate C the power factor is 60°
C AND gate D  the power factor is Cos 60°
D NAND gate

28.

24. A 5
! — —f — —{ —
2 K 60uF 60pyF  60pF gOuF
Figure 11

Figure 9 i
T QSis e & The total capacitance between points A and B of
O 11§ - the circuit given in figure 11 is:
A Junction diode A 15uF ’ b~
B Zener diode B 30uF
C Silicone controlled rectifier C GOtF
D Transistor D 240pF
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29.

Figure 12
The total impedance of the circuit given in
figure 12 is:
A 4Q
B 565Q
C 16Q
D 8Q

XL=4 R=da

—® 220V-50Hz ———

30. The charge on the plates of a capacitor is 6 mC
when the potential between them is 2.4 kV. The

" capacitance of the capacitor is:
A 04yF
B 25uF
C 0.000025MF
D 25 mMF

31. The three factors used to determine the
resistance of a conductor are:
A voltage, current and power
B length, resistivity and diameter

C cross-sectional area, and current
D resistivity, cross-sectional area and length

32. The circuit which describes the functioning of

an OR gate is:

A Ph & %

B Ph H
- - /b =
. =
D A H
ol e

33.
I 49 12 g
28V .I_ L" A
Figure 13
Applying Kirchhoff’s current law to the circuit
of figure 13, Isc will be:
A TA
B 14A
C 28A
D S5A
34.
e Lo
Figure 14
The output Y of the logic circuit given in figure
14 is:
A 1
B 0
cC X
D X
35.

A

B

C
D

Figure 15

A DC supply of 180V is connected across the
terminals AB of the Figure 15. The current in
the 6Q resistor will be

10A

S5A
12A
6A

36. The quantity of charge that will be transferred
by a current flow of 10A over one hour is:

A

gOw

10C

3.6X10°C
2.4X10°C
1.6X102C
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37.

Three cells each of em.f. 1.5V and internal
resistance 1Q are connected in parallel. The

- e.m.f of the combination is:

A 45V
B 5V

C 3v
D 15V

38.

The quantity of charge to be delivered by a
battery with potential difference of 100V todo a

" work of 5007 is:

A SC

B 05C
C 50C
D 500C

39,

Two electric bulbs rated at the same voltage

have powers of 40W and 80W. If their

resistances are respectively R1 and R2, then
A RI=2R2

B R2=2RI
C R2=4Rl
D R2=4RI
40. In a series R,L,C circuit,
A  Increasing the frequency decreases the
resistance
B  Increasing the frequency increases the
resistance
C Both XL and XC changes with
frequency changes
D  Impedance will always decrease
41. If three 9mH inductors are connected in parallel

without mutual inductance, then the total
inductance is:

A 3mH
B 9mH
C 27mH
D 18mH

42,

A 16mA current source has an internal

resistance of 10kQ. How much current will flow

in a 2.5kQ load connected across its terminals?
A 42mA

B 6mA
C 11.5mA
D 128mA

43

An electric heater consumes 3.6 MJ when
connected to a 250 V supply for 40 minutes. The
power rating of the heater is:

A 1000W
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B 1500w

C 900W
D 75W
44. The energy stored in a 10pF capacitor when
charged to 500V is:
A 1.25m]
B 0.025u)
C 128)
D 125C
45. The e.m.f. induced in a coil of inductance 12 H

by a current changing at the rate of 4A/s is
A 48V

B 3V
C 16V
D 24V

46.

Liquids that are good conductors because of
ionization are called:
A Electrodes

B Bases
C Acd
D Electrolytes

47. An electronic component without a gate
terminal is a:
A Triac
B SCR
C FET
D Diac
48. A decimal number systern has:
A Ten digits
B Nine digits
C Two digits
D Eleven digits
49. BCD 00010111 to binary gives:

50.

A 10101
B 10001
C 10010
D 11000
Converting the octal number 6145 to decimal
gives: :
A 400
B 384
C 39
D 39
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